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Q1

In the following question, below are Q1

given some statements followed by

some conclusions. You have to take

the given statements to be true even

if they seem to be at variance with

commonly known facts. Read all the

conclusions and then decide which

of the given conclusions logically

follows from the given statements,

disregarding commonly  known

facts.

Statements:

Some pink are not yellow.

All orange are pink.

Some green are yellow.

Conclusions:

l. All oranges are green.

[I.  Some pink are not orange is a
possibility.

(A) Only I follows

(B) Both I and Il follow

(C) Only Il follows

(D) Either I or 1l follows

LOGICAL & ANALYTICAL REASONING & DATA INTERPRETATION

fa3 9 yHs g, &t J% 98 3
J1e I& M3 gl & gmie oY i i3
Je I&| 3a78 &3 I JEst § HY

H&ESTJ=dn, g fog wd 7 /e 3ai
3 W& 7R I | A THfen & U3
W3 W™ 7 7Y 381 €t ydeg i3
faat AT 99 fa &3 e ffentt fed

f[qa3/fag3 &3 92 JE&f df U

JIT/II% J/Ia |

qES

I3 JHTH S &t 75|

A H3d JuTH I5 |

o3 Jd Ui% I |

fie:

. AJHIIII IS

. dJ9 & ¢ H3d IT
HI& &t

(A) fAgg Iy aderd

(B) 1M3 11 T UBI It IS

(C) fAggnusTT e d

(D) A3 IHAfed I USTTIIeTI
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Q2

In the question Dbelow three Q2

statements are given, followed by

two conclusions, | and Il. You have

to consider the statements to be true

even if they seem to be at variance

from commonly known facts. You

have to decide which of the given

conclusions, if any, follows from the

given statements.

Statements:

All grapes are orange.

Some grapes are fruits.

Some kiwi are fruits.

Conclusions:

l. Some kiwi are grapes.

[l.  Some oranges are not Kiwi.

(A)  Only conclusion I follows.

(B)  Only conclusion Il follows.

(C) Both conclusion 1 and |l
follow.

(D) Neither conclusion | nor 1l

follow.

Joi fid3 ffq Aers fag < fAfant | w13

Il T YT JIe 98 36 986 fid3 are
I&| 3T qE8S A Hed U 9
€7 W 39 3 fapr3 35t 3 S IS

3374 {63UTd3 daaT U=dr fq fe3 are
fifentt & 7 €t J 3, faga &3 I
JEHS T YTHE I |

JHE:

H'd »igId, H3d I&|

g% g, 83 I& |

IF i<, €8 Ia |

fiHe:

. g, igd Ia|

1. FZHIY, A< s Ia|

(A) AT fHiaT | UBE gIe1 J|
(B) d<H it Il U F3<1 J|
(C) THa "3 11 TR UBEIIL TG
(D) & dfHe I a7 d 1 UsE Jde

Jal
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Q3

Q4

Q5

Which one set of letters when Q3

sequentially placed in the gaps in the

given letter series shall complete it?

hv _a vb _h b _

(A)
(B)
(®)
(D)
Find

hbvab
bhava
avbhv
vbavh

the missing letters in the Q4

pattern:

YZ_Q XY_PR

(A)
(B)
(©)
(D)

PXRZQ
XPQRZ
XPRZQ

XZRPR

In the following question, select the Q5

related

letters from the given

alternatives.

AZYB :CXWD :: EVUF:?

(A)
(B)
(©)
(D)

GTSH
GSTH
GSHT
GTPH

gt T I AHa 7 g it
et wivg B3t e wi3arst 3 Jftm Hiwr
J 3t fomd yar gaam
hv_a _vb _h b _

(A)  hbvab

(B) bhava

(C) avbhv

(D) vbavh

Ueds feg® BU3 »iygi § B3|
YZ Q XY PR

(A) PXRZQ

(B) XPQRZ

(C) XPRZQ

(D) XZRPR

. rv\.

J& a3 yrs g, fie3 I8 feagyt
HEU3 »iydi § 93|
AZYB : CXWD :: EVUF : ?
(A) GTSH

(B) GSTH

(C) GSHT

(D) GTPH
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Q6

Q7

Q8

In a family, H is daughter of A. M, Q6
A’s sister has a son R and daughter

S. C is mother of K. K is brother of

H.

How is H related to C?

(A) Daughter

(B) Sister

(C) Brother

(D) Mother

R, S, T, U, Vand W are six family Q7
members. W and U are a married
couple. V is son of U, who is not the
mother of V. T is daughter of W,
who is sister of R. S is brother of U.

How is V related to T?

(A) Father

(B) Brother

(C) Mother

(D) Sister

In the following question, select the Q8
odd letter cluster from the given
alternatives.

(A) WSOK

(B) MHCX

(C) FBXT

(D) SOKG

ffq ufgea fg, H, AR II3d JI ™,
A IT I fare M3 R I »3
TSRS IIC, KAHITII K, HE
IITJI

H T C &% ot fams1 32

(A) FY3dt

B) ST

(C) 3T

(D) W3

R,S, T, U, V3 W & ufdgeda Hed
IS W U g ferrggraz1 J1 v,
UT Y33 T AV HIT & JI T,
W& SR Y ARESTIIS, U
IITJI

V@ T &S ot fgmst J7

(A) fus

(B) I

(C) W3

(D) s

Jat o3 Yy 1, i3 I2 feasyt fed
NS niydi § 93

(A)  WSOK

(B) MHCX
(C) FBXT
(D) SOKG
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Q9  In the following question, select the Q9  J&t 3 yra 27, i3 Ie feamui fed

odd word from the given oINS HET 93|
alternatives. (A) BYsR
(A) Lucknow
(B) dJidt
(B) Ranchi
(C) Patna (€) Hea!
(D) Indore (D) fédg
Q10  Which answer figure will complete Q10 fagzr €33 fu3d, yas 939 f<g
the pattern in the question figure? VIS Q Yd' Jddm?
(0] |[®] @@
ol - DI
(A) (A)
(B) (B)
'
(©) (C)
(D) (D)

7134/DA



Q11 In the following question, select a Q11 Jat fid3 Yis <, I9 feasmut fod

figure from amongst the four g fiEg & 9 R & fifgg = e
alternatives, which when placed in T )

the question mark of figure would g feg 3 g |
complete the pattern. Ah
A A
AlA A
A A 2 |a
A
2 |a
A
A
A
A (A)
A) "
N A
A
(B)
(B)
A
A A
A ©)
(€)
A A
A o) =
(D)
Q12 Inacode language, if Q12 fEq oz I feg, Aad
‘A @ B’ means ‘A is wife of B’ ‘A @ B’ TTH3I&EY ‘A, BT U3at Y
‘A $ B’ means ‘A is son of B’ ‘A$B’€T)-B'8'E[‘A,B€”_:I'3_d’ﬁ’
‘A > B’ means ‘A is brother of B’ ‘A>B’€TH3'8'EI‘A,B€T§'EF§’
Which of the following means O is fegst fed far T H3sgIfao N T
the son of N? Y33
(A) OSM@N (A) O$SM@N
(B) N$O>M (B) N$O>M
(C) M>0@N (C) M>0@N
(D) N>0@M (D) N>0@M
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Q13

Q14

Q15

In a certain code language, 'BAG'is Q13 f&« ¥ o3 31w feg, 'BAG' § '101°

written as '101"' and 'CAB' is written
as '37'. How will 'BAD' be written in
that code language?

(A) 65

(B) 50

(C) 122

(D) 82

In a certain code language, 'N' is
written as '28' and 'POT" is written as
'323040'. How will 'PET" be written
in that code language?

(A) 321040

(B) 312040

(C) 302140

(D) 302014

Gaurav walked 12 m towards north,
took right turn and walked 15 m. He
took a left turn and walked 15 m. He
took a left turn and walked 30 m. He
again took a left turn and walked
27 m,

How far is he from his initial
position?

(A) 25m

(B) 18 m

(C) 20m

(D) 15m

Q14

Q15

W3 'CAB' § '37' © gy <g 18ftmr
Aer J| 87 a3 3w f<9 'BAD' § o<
S e Hream?

(A) 65

(B) 50

(C) 122

(D) 82

e uH 93 g g, 'N' § 28' »i3
'POT' § '323040' fasfm AfeT J1 €1
93 g 89 'PET' & fa< fasfimn
HIedn?

(A) 321040

(B) 312040

(C) 302140

(D) 302014

dide €39 <& 12 m 3fann, 78 Hignm
W3 15 m 3frTl BT ¥e Hfmr »3
15 m 3fauTI B ¥ HiPM %3 30 m
3fan| §J T U8 HiIAT "3 27 m
Sfanri
8IS g3t AfeSt 3 fdat ga 92
(A)
(B)
©)
(D)

25 m
18 m
20m
15m
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Q16 From his office, Saurabh went to Q16 FHd< »MUS T©23d 3 TYT @B 30 m

Q17

Q18

30 m to the south. Then he turned
east and covered 40 m. Then he
turned north and covered 30 m.
Finally turning to the west, he
covered 20 m.

How far was he from the starting
point?

(A) 30m

(B) 20m

(C) 15m

(D) 10m

From the given options, which part Q17

of the figure shows Artists who are
Lawyer too?

P .
[— Artists

(A)
(B)
(©)
(D) R

w O -

Select the option that is related to the Q18

fourth number in the same way as the
first number is related to the second
number.

729 :6561 ::?7:625

(A) 25

(B) 125

(C) 55

(D) 75

famrr1 €7 fed yag <& izt »13 40
m T Tt 3 13t B9 feg €33 <
Hfm w3 30 m <t Tt I S
WM UgH <8 HIe I8, BAS 20
m T gt 3 i3t

8a mryd g3t g 3 st ga Hi?
(A) 30m

(B) 20m

(C©) 15m

(D) 10m

fo3 I fequut feg, fd3d © faaa
fdm BJ& aBEG (Artists) &
TIAETT J 1 TS (Lawyer) < T8?

Teachers

N/ [ Arists
(A) T
(B) Q
€ s
(D) R
8H feazu § ¥ 1 ¥8 &9d 378
AHU3J BR3¢ e ufa dag wren

&9d 518 A8U3 J
729 : 6561 :: ? : 625
(A) 25

(B) 125

(C©) 55

(D) 75

1034/DA



Q19 Select the option that can replace the Q19 §J feamy & 1 Jaf fadt B3t &9

question mark (?) in the following yrs g (7) & 998 AaeT I
series.

43,51, 78, 142, 267, ?
43,51, 78, 142, 267, ?

(A) 483
(A) 483
(B) 375 (B) 375
(C) 610 (C) 610
(D) 518 (D) 518
Q20 Find the figure from the answer Q20 €33 fd3d f&d Ga fd3g uzT 33, A
figure that will replace the question UH& fg3g feg YHS FJQ @ g3
mark (?) from the problem figure. »edr|
ETEL %

' =2t ‘I : 1’ d=ralk ?

*| ¢ *| ¢
(A) = (A) Be

03 o

x

(B) (B) ’ “F

1= =

4
(©) ¢ (C) Yo

| * Y
o 21 o =

11[34/DA



Q21

Q22

Select the correct figure:

ol -
/A

/o

o]l 1@

1@

(A) B
(B) C
C) D
D) A

C,D, P, R E G and F are seven
members in a family. P is not mother
of D but D is son of P. C is married
to P. E is the brother of P. F is brother
of D. R is daughter of C. G is wife of

E.

How R is related to P?
(A) Father
(B) Daughter
(C) Mother

Sister

(D)

Q21

Q22

A) B
(B) C
C D
D) A

C,D,P,R, E, G 3 F fEq ufgeg f<g
A3 H9d I&51 P, D &t H3T &dt J Ud
D,P @ AY3d JI C @ forg P &%

e JIE,PTITTIIF, D IT
JIR, C AR JI G, E Fu3at JI

R €T P &% ot fgasT IJ?

(A fuz
(B) wUId
(C) H37

(D) I

1234/DA



Q23 How many Engineers are there who Q23 fd& f8rlad (Engineers) I& #

Q24

Q25

are not Doctor?

Artists
18
/A

4 9 \3
15 18
16
f 18 E
Doctors
Engineers
(A) 5
(B) 18
(C) 23
(D) 33

Praveen walks 50 km towards the
north. He turns to the right and walks
24 km. He turns to the left and walks
80 km. He again turns to the left and
walks 20 km. Finally, he turns
towards the south and walks 150 km.
In which direction is the starting
point from the finishing point?

(A) North-East

(B) North-West

(C) South-East

(D) South-West

It is Monday today. What day will be
the next day after 2 days from today?
(A)
(B)
(®)
(D)

Sunday
Thursday
Monday
Friday

Q24

Q25

3192d (Doctor) &t I&?
Arlism
18
5
A
15 18
16
f 18 §
Doctors
Engineers
(A) 5
(B) 18
(C) 23
(D) 33

Yts §33 2% 50 km 98w JI §I HA
UTH 28 HIT J W3 24 km T J|
87 ¥ Uy B HIT I W3 80 km
BT JI QI fed HE UA B W3 I
3 20 km T&T1 J| i3 fieg, Qo Ty
B HIT J M3 150 km T J|
J?
(A)
(B)

§33-yas

SESRIGHT

(C) TuT-yde

(D) TYS-UgH

Wi AHed J1 wid 3 2 fost gmie
WIS foa fgazr deam

(A) W39

(B) <ided

(C) HHeg

(D) HaIIed
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question and two statements

numbered | and Il given below it.

You have to decide whether the data

provided in the statements are

sufficient to answer the question.

Read both the statements and give

answer:

In which direction is Shekhar facing?

I- In the early morning Shekhar
was standing in front of a
puppet and the shadow of the
puppet was falling to the right
of Shekhar.

[1-  In the early morning Shekhar
was standing on the ground.
His shadow was falling behind
him when he turned to his left.

(A) If the data in statement | alone
are sufficient to answer the
question, while the data in
statement 1l alone are not
sufficient to answer the
question

(B) If the data in statement Il
alone are sufficient to answer
the question, while the data in
statement | alone are not
sufficient to answer the
question

(C) If the data given in both
statements, statement | alone
and statement Il alone are
independently sufficient to
answer the question

(D) If the data given in both
statements | and Il together
are not sufficient to answer the
question

Q26 The question below consists of a Q26 J&t fe3 Yms feg ffq yms »i3 fome

Jo i3 &89 | w3 1l {88 < farrs

THS I&| 3T 5T 3 T U=ar

fat 5t ffrast feg 3T fam 31T YHS

T §39 < wdl 9l J 7 &l 7%

W@W@Wﬁc’@:

T fom fom <8 <y faar 07

I- A< 33d BYd fIH qay3st ¢
HIHS HFT Hl W3 JEY3BT &
yderet 7Yd ® Ha UA U fagar
Hi

- FA<d 339 HYd W16 g ¥
H 1 7 G wmud ¥g um Hinr
3t GAT yggret Ene fig U
fggr At

(A) 1 g s | fegs 3
yis © §33 T T 9ig I,
< fq fed& forrs 11 fegs
3T YHS T €39 T B e
&3

(B) 1 fod& fors 11 fegs 3
yns © §33 T T 9ig I,
% fa fool& fors | fegsT 3T
I €1 §33 T B g adt
J

(C) = Tt fourst g 31 famr
3T fed & fants | w3 fed&
s 1| 339 33 3 YIS ©@
3T BRI I

(D) # << frrst | w3 11 35 fioar
famr 3ret fH®T & Yy =1 €39
T BE I adl J
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question and two statements
numbered | and Il given below it.
You have to decide whether the data
provided in the statements are
sufficient to answer the question.
Read both the statements and give
answer:

Who among Rakesh, Mukesh, Amit,
Nitin and Sumit is the lightest?

I- Amit is heavier than Mukesh
and Sumit but lighter than
Nitin.

II-  Nitin is not heaviest.

(A) If the data in statement | alone
are sufficient to answer the
question, while the data in
statement 1l alone are not
sufficient to answer the
question

(B) If the data in statement Il
alone are sufficient to answer
the question, while the data in
statement 1 alone are not
sufficient to answer the
question

(C) If the data given in both
statements, statement | alone
and statement Il alone are
independently sufficient to
answer the question

(D) If the data given in both
statements | and Il together
are not sufficient to answer the
question

Q27 The question below consists of a Q27 J&t fe3 Yms feg ffq yms »i3 fome

Jo i3 &89 | »3 1l f&8 © s

THS I&| 3T 5T 31 3T U=

fat 5t frrst feg 3T fam 31T YHS

T §33 T B gl J 7 &1 &<

femTs U3 w3 A< fe6:

fed far T grg Ag FWe I?

|- MH3 T I9 HIdH M3 HH3
&8 fmer 3 U3 fafzs &8
liriafl

Il- fof3s © 319 A3 3 famer &t
JI

(A) 7 fod& s | fegsr e
yns @ §39 ¥ B e I,
< fa foas fous 11 fegs
3T YHS T €33 T B e
&3

(B) 1 fod& fors 11 fegs 3
yis © §33 T T 9ig I,
< fq feq s fomrs | fegs 3t
I €1 §33 T B g adt
J

(C) 7 o< forst g fo3r famr
31, o &t s | w3 fedar
s 1l I339 33 3 YIs ©@
3T BRI 5

(D) # << furst | w3 11 S5 fioar
famr 3ret fH®T & Yy =1 €39
T B A 5 I

1534 /DA



Annu, Anil, Amita, Ankit, Amit,
Anita and Ankita. They like different
types of colours from blue, red,
white, black, pink, yellow and
orange, but not necessarily in the
same order. Each of them has a
different profession, namely DM,
SP, SO, CO, DGP, SSP and SI but
not necessarily in the same order.
Annu does not like orange colour.
The SP likes blue colour. Amita and
Anita like blue and yellow, though
not necessarily in that order. Anil is
a DGP. The person who likes orange
colour is an Sl. The SO and the DGP
like white and pink colour, though
not necessarily in the same order.
Anita is an SSP. The one who likes
pink colour, is a DGP. Ankita who
likes black colour, is not an SSP.
Annu is not an SI. Amit, a DM, like
red colour. The CO likes black
colour. The one who likes white
colour is an SO.
Which of the following statements is
true?
(A) SO likes black colour
(B) Amitaisan SSP
(C) Sl likes orange colour
(D) One who likes black colour is
a SO

Q28 There are seven persons, namely Q28 &, W&, w31, wifa3, wifH3, widlsT

W3 ifd31 5™ & H3 fonast Is | B
& B, B et I3 BT, Yl
W3 H3d U< Jd1 UHE Is Ud
#ddl &t fa feR o {9 I gda =
<Y-24 Ui fie DM, SP, SO, CO,
DGP, SSP »13 SI J, Ud Addt &1 fa
fen g feg <
g § A3dt 91 AT & J1 SP &
ST Ja1 yrAT J1 wfH3T w3 nisizT §
&l e 9 e 31 wfes DGP I
faR feniast § Aadt Jar ure 9, 69
SI J1 SO »13 DGP § fier »3 Irsret
Ja1 ure J Tsifq Agdt adt d fon
fdg I<| »&13T SSP J1 €9 fenast
fd I a1 ure J, 89 DGP J
nifg3r fang 8T a1 ure J, SSP
& 1 %G SI & I w3 A ¥ DM
J, § B8 Ja1 UHe J1 CO & T Il
yrie J1 89 fouadt famg fda da
yHE d, SO JI
Jot fifamit i fagzr aaas HE J 2
(A) SO QI I UHT J
(B) MMH3TSSPJ
(C) SIgAsdAIIUAT I
(D) Cafenast fard I3 a1 yre
J,s0d
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Q29

Q30

If all the digits in the number Q29
'6231732548' are

ascending order, then how many

arranged in

digits remain in the same place?

(A) One

Two

(B)

(C) Three

Four

(D)

In the following question, select the Q30
number which can be placed at the
sign of question mark (?) from the

given alternatives.

18 | 2 |19 15

(A) 24
(B) 20
(C) 28

(D) 32

Had HitmfT '6231732548' & »idi &
3% IH T HYy o3 AT J, 3
fdd i wudt ufgst <@t 71 3
Jfde I&?

(A) One

Two

(B)
(C) Three

Four

(D)

J& a3 yr& 19, fie3 e feqmui fied
Sr Hft R 9T I3 A Y fidg ) ©
ES €3 11 Ao I

18 | 2 |19 15

98 | ? 65| 98

(A) 24
(B) 20
(C) 28

(D) 32
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Q31 Identify the diagram that best Q31 €H IfedrH Tt g 99 7 Ia St

represents the relationship among it fegad 78 3 €31 Hdu §
the given classes. CREUSIRT

District, State, Country. 1‘,—_@1 J4d ©H

(A) I (A) :

®

(©)

©o (©o

) ©)
Q32 The calendar of the year 2005 was Q32 H™& 2005 <7 J834 fens ufost 7
used before intheyear . g =gt faper A
(A) 1993 (A) 1993
(B) 1994 (B) 1994
(C) 1998 (C) 1998
(D) 1999 (D) 1999

18 (34 /DA



Q33

Q34

Q35

In the following question, select the Q33 I 3 Yia feg, i3 Ire feqmut fied

odd letter/letters from the given

alternatives.

(A) YQTL
(B) BTWP
(C) DVYQ

(D) PHKC

In the following question, select the Q34

related letter pair from the given

alternatives.
LTF:OGU :: ?
(A) CRV:XIF
(B) TQM:GLN
(C) NJX:MQB

(D) EUW:VFD

From the given alternatives, select Q35

the word which CANNOT be formed

using the letters of the given word.
IMMEDIATELY

(A) DATE

(B) DIAMETER

(C) LATE

(D) MEDIA

NS vudi © 9T 94|
(A) YQTL
(B) BTWP
(C) DVYQ
(D) PHKC

HAU3 »iygi € A} d 9 94|

LTF:OGU :: ?
(A) CRV:XIF
(B) TOQM:GLN
(C) NJIX:MQB

(D) EUW:VFD

fd3 are feqsyt fed, Ba wew ¥ #
fid3 918 TET © »iydt o <93 Jdfon
&l g1 7 HIwT|

IMMEDIATELY

(A) DATE

(B) DIAMETER
(C) LATE

(D) MEDIA

19 34/DA



Passage (Q36 to Q40) Study the given table Jat fi&3 AET®T @ A< o< 3ot 3t I
to answer the questions that follow. & T wifls 93|

The table shows the number of students of Frgt Sy .Sy Ozt Thei gSifethui &g 34T

different classes of a school participating in 3= o8 AGS i YTy FaE @
different sports activities. -

fefemraeit & Hitwn § Tamget
Class— | VI IX [ X [ X1 [ Xl

IBH — VI [ IX | X [ X1 Xn
Sports
Activity | 3 g L
Swimming | 8 | 15 | 14 | 19 | 14 EGLCI| 8 |15 |14 |19 14
Cricket 12 [ 15 [ 11 | 19 | 18 foqare 12 [15 11|19 | 18
Lawn 13 11 8 7 16 Wéﬁ)—ﬂ 13 11| 8 7 16
Tennis T=hies 20 |10 76| 9
Badminton | 20 | 10 7 6 9 .

) 12 (10|16 |16 ] 10
Football 12 [ 10 [ 16 | 16 | 10 -

Q36 In which sports activity is the Q36 wAS AH3 3 fagdt 93 JrEifett feg

participation from class X the least? 713 3 Wfe grgfterdt J»
(A) Cricket (A) fqae
(B) Lawn Tennis (B) BMG Aen
(C) Badminton (C) u3fies
(D) Swimming (D) 3Tt
Q37 In which sports activity did the least Q37 fqr ¥3 dJ=ifedt fég Ag I U<
number of students participate? fefonrggh & grgr {31
(A) Swimming (A) 3Tt
(B) Football (B) B
(C) Lawn Tennis (C) BmG fen
(D) Badminton (D) u3fHes

20134 /DA



Q38 From which class is a minimum Q38

Q39

Q40

number of students participating in
these sports activities?

(A) VI

(B) IX

C X

(D) Xl

What is the ratio of the total number
of students participating in cricket to
that of badminton from classes VIIlI,
X, Xl and XI11?

(A) 5:4

(B) 8:5

(C©) 10:7

(D) 9:8

What is the difference between the
students

total number of

participating in  three  sports
badminton, football and cricket and
the

participating  in

total number of students

two sports

swimming and lawn tennis?
(A) 43
(B) 58
(C) 66
(D) 71

Q39

Q40

fegat 93 gdifet f&g Wl
fefenrggt far M3 3 991 & 9 I&?
(A)
(B) IX

VIl

€ X

(D) XI

VI, X, X1 3 X 7131 & e feg
I BT Y fefonradhnt & IS
farest w1 93w 3 wiaus sftet I?

(A)
(B)
(C) 10:7
(D)
35 93t 93fiics, o »3 fqae
39 a1 BT T fefonrget <t 9%
Hitmm %3 | 93t 3316 w3 B
fon &9 3a1 e o fefenradh
o I Ay &g it »izg J?

5:4
8:5

9:8

(A) 43
(B) 58
(C) 66

(D) 71

21134 /DA



Passage (Q41 to Q45) Study the given pie- f&3 IR utdl.grde @ wiftds 3 W3 »idl
chart and answer the questions that follow. »@= T Aewi € Aeg G|

The pie-chart represents the exports of yrsftgrge AT 2021 TF& & Y- JUEMHT
different medical instruments by six DT Y Was w3gt 2 fsgus &

different companies during the year 2021.

The total value of exports was 268 lakh.

I 8T J| fodu3 T 4% US 268 BY Hi

Exports of Medical Instruments by Various Companies

Exports of Medical Instruments by Various Companies

Q41

Q42

[RH-]Y qUashi guigT H3ES wW3d o

fogw3 |

Total exports of which of the Q41
following three companies is exactly

half of the total export by all the six
companies during 2021?

(A) A CandF

(B) C,EandF

(C) E,D,and A

(D) E,BandD

What is the difference in the value of Q42
exports by D and E?

(A) 34,000

(B) 46,000

(C) 358,000

(D) 68,000

3% fadus 2021 €96 AGHT ®
YA T 4% fEgET3 2w 2
(A)
(B)
©)
(D) E,BandD

D %3 E ©4d fadw3 © U3 <9 diat
»3d J?

(A) 34,000

(B) 46,000

(C) 258,000

(D) 68,000

A CandF
C,EandF
E, D, and A

22134/DA



Q43 What is the value of total exports Q43 A, C M3 E ©4d 2021 ©d6 I%

during 2021 by A, C and E taken feau3 T Hs diat 97

together?

(A) 326.85 B
(A) 326.85 lakh

B) 334.6838M
(B) %34.68 lakh ®)

(C) 236.75 lakh (C) %36.753M

(D) %40.25 lakh (D) 340.25 B

Q44 What is the difference between the Q44 A W3 F ©nd' f5aW3 © 9% HEB »3

total value of exports by A and F C =3 D ©J f6dW3 © &% H& {29
together and the total value of export FiR ERRL,
by C and D together?
(A) B5TY
(A) 5.5 lakh
(B) 5.8 lakh (B) H3BM
(C) 6.8 lakh (C) 6.8¥M

Q45 What is the value of exports by B Q45 2021 ¥J'G B ©J f5aw3 @ ¥ ot

during 2021? J7

(A) 755 lakh (A) 37.55BN
(B) 8.16 lakh (B) 8.16BM
(C) 28.34 lakh (C) 28343
(D) 28.98 lakh (D) 8.98 BN
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Passage (Q46 to Q50) Article 52 to Article
61 of the constitution deals with the duties,
powers and responsibilities of the president
of India. Article 52 and 53 states that there
shall be a president of India, and he is the
executive head of nation and these executive
powers vested on him will be exercised
either directly or through officers’
subordinate to him in accordance with this
constitution.

Article 54 and Article 55 deals with the
process of election of the president. The
President is indirectly elected by an
electoral college comprising the Parliament
of India (both houses) and the Legislative
Assemblies of each of India's states and
territories, who themselves are all directly
elected. According to article 56, once a
person is elected as the president of India, he
shall hold the office for a term of five years,
and there is provision under the article
which allows the president to resign from
the position by addressing a letter to the vice
president under his hand, willingness to
resign. Apart from this, a president can be
removed for the violation of the constitution
by the process of Impeachment. And this is
so called process of

Article

Impeachment is

discussed under 61 of the

Eed 52 3 MEed 61 9193 ¥ JHIIUS
IS, AIST w3 frefierdg 518 Hefu3 J|
nEeT 52 M3 53 THT J fd 993 T fq
JTHIGUS! J=dT, W3 §J IHcd T JigrdTdl
Wt I=am »i3 GR €3 fafg3 feg srgrardt
A3t for Hieus € wigAd fHY w7 GAe
WIS MaSTItuT ZorrdT g3t ArSgiti|

MEET 54 M3 MEee 55 THIIUS € 9 <t
Yfdfgn 578 AEU3 I5| ITHEIUS & »fHT
3d '3 393 < AAT (&< AEs) W3 9193 ©
IS It w3 YeH dfi feurs AIel Ol
dTdd I&H AT gicn 7w J, 7 ye il
3d '3 93 A I&| MdeT 56 © mgHd,
T1J A< oE! ford 31 313 T Iyt gfceonT
HIBIT, W3 A »gex ¥ 3fd3 wifadr ydu
J 7 IwHeayst § e U39 Hafus 3da »ige
3 At 2 <t wifgpr fider Q1 wmi@ T8
J5 QU yus, »rdter T <t e fom 3
fegrar Haen « yfafeu ot Afeurs &
SBUT T IHCIUZT § JeTon /T HawT J|
03 HaeA © fer w3t yfafanr 3 Afeurs <
ngeT 61 ¥ 3fg3 g9 a3t 9t J1 Hieus
<t GBwe ¢t Irequst 3 Howdn w1 S e
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constitution. Violation of the Constitution is
the only ground for Impeachment of
President. The Impeachment charges can be
initiated in either of the houses of the
Parliament with at least one-fourth members
of that house signing the charges and later a
min. 14 days notice should be given to the
President. Then one house should pass this
resolution with a majority of two-thirds of
the total membership of the house and then
send it to the other house. The second house
should investigate the charges and President
will be given the right to appear and to be
represented at such an investigation to prove
his innocence. If the second house also

passes the resolution with two-thirds
majority of the total membership of the
house, then the President stands impeached
from that date. According Article 58, for
being elected as president of the nation,
there are a set of conditions which has to
satisfied, such as, the person should be a
citizen of India, should have completed the
age of 35 and he should be qualified for
election as a member of the house of the
people and further, he shall not hold any
office of profit under the Government of
India, or any state or under any local or other

authority under the control of the said

WO J | HeH HAE © fan & ATs S »ds
o3 7 AR I6 W3 BH AEs € w-ue -
TETE Hed '3 IH3THd AdT I6 W3 ¥™ME
39 fea fifel Imeaust § 14 fes = &fen
fa3T A< | fed B Aes TAH3 S ARG B IS
Hegr ® 2 397! 9gv3 &% UA 99 713 fed
TH TG § 31| 1 ATS § o ©f Aid 9dal
T J w3 IHSIUS & MUt SaIeT
Y3 Jd6 Bt wifrdt Atg feg U de w3 Un
J& T wifgarg €37 Aedn| Add €HJT AT
3 ATG © 9% Hed' © % 397 9913 a1%
H3' U 99T J, 31 A 3t 3 gmequst 3
HITH I8 7T J| WMEeT 58 < WgH,
JTHcd ¥ eI o g A1 B, 99 Ha3i
I& fgt & Ya 99T 7gdt 9, e fa, feoniast
393 T GIIIdd I It J, 35 A% €t §Ha
ydt a3t It Tdiet I i3 BT 9T Bt wal
JST T J| B T HES T HId o 9 BHl
Wdl IS TdiEr I w3 »dl, BT 393 AT,

i {IH I 7 G913 ATt © fau3de »illa
faH AETAS Hi I wEdt itls 19w dE
g &t AgT&An| f8q <9 Iyt € 39
3 g3 AT 3 ImiE, B fonast wigee 59 ©
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governments. Once elected as the president,
the person will be entitled to all privileges,
benefits, emoluments and allowances
mentioned under article 59, as long as he
continues in the position.

Judicial Powers

The primary duty of the President is to
preserve, protect and defend the constitution
and the law of India per Article 60. The
President appoints the Chief Justice of the
Union Judiciary and other judges on the
advice of the Chief Justice. He dismisses the
judges if and only if the two Houses of the
Parliament pass resolutions to that effect by
a two-thirds majority of the members
presente The President has the power to
grant pardons, reprieves or remissions of
punishment to any person who has been
convicted by a Court of Law. Apart from
the

‘Emergency Powers’

these  powers, president enjoys
and whereby the
president can declare National, State and
Financial Emergency under Articles 352,
356 and 360

constitutional provisions and the scenario, it

respectively. From the

is clear that a wide range of powers,
privileges and duties are conferred up on the
president.

W3 Ff3nf T JIETg J=dT, 7Y 39 §I »ige
3 ¥ Ifder J|

JTHCIUS T HEST dd3< HISUE M3 Ig3 ¢
TGS & MEeT 60 ¥ MEHT, HIpT 3
et FIaT J| THCIUS HY 7 & AST 3
dedt fenfuf@ar @ Hu #d w3 I9 74 <

fowast ger J1 B9 7AT § §IUH3 w7 J

Add W3 9<% 31 J A HAT T T AT Ho<
gt ® < f3ardt 5gH3 ©raT for yge Bt
H3 UTH I I&| ITHIIUS! 98 Jha
TS 3 TATT T Sigare I foA <t fenarst
W&, I3 7t 7 Hve 9da <t TSt I
foat Hasht 3 fewrer, Imrequst § wHanH
AT M@ee 352, 356 M3 360 ¥ 3fd3
UG Jwcd, I w3 &3 whigart =
NS Jd AT JI feusa feenaet »3
fordide 3, &g Mine J f Imeduat @
A3, fenn wifgardt w3 J33<t <t o
femms 7St yeis i3t 7kt |
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Q46

Q47

Acrticle of the Constitution Q46

deals with the Election of President

of India.

(A) 51-52
(B) 52-53
(C) 53-54

(D) 54-55

The president, the person will be Q47

entitled to all privileges, benefits,

emoluments and allowances

mentioned under article
as long as he continues in the

position.
(A) 58
(B) 59
(C) 60

(D) 61

AIeU® T Mae<e Id3 ©

JHIUS! € 9 &% HEfU3 JI

(A) 51-52

(B) 52-53

(C) 53-54

(D) 54-55

U], B foraSt A S wide 3
& Jfder I, nigee <

I&YUT 03 I3t T JJeTg JedT|

(A) 58

(B) 59

(C) 60

(D) 61

27134 /DA



Q48 The electoral college that elects the Q48

Q49

Q50

President is made up of all the

following, except

(A)
(B)
(©)

(D)

Lok Sabha Members
Rajya Sabha Members
Members of the Indian
Administrative Services
Members of  Legislative

Assemblies

Article Defines the Primary Q49

duty of the President.

(A)
(B)
(©)
(D)

40

50

60

70

What is the term of the office of the Q50

president?

(A)
(B)
(©)
(D)

4 years
S5 years
6 years

3 years

THIIYS €1 < II6 T TS IS
{83 9 J&
a3 Arfanm T gfewr Jer J|

qT&EH

(A) B A HE

(B) T HI HEd

(C) I3t yaHisa Aeet © Had

(D) feus Ag= = Hag

__ 38T JHeIF R HER 933
& Ufggiz I3 JI

(A) 40

(B) 50

(C) 60

(D) 70

THIUS! © wige <t e Siat J?

(A) 4HZ

(B) 5HS
(C) 6HH

(D) 37S
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DIGITAL LITERACY & COMPUTER AWARENESS

Q51 With respect to computer processing Q51

Q52

speed, what is the full form of MIPS?

(A) Millions of Instructions Per
Second

(B) Millions of Instructions Per
Speed

(C) Millions of Instructions Per
Signal

(D) Millions of Instructions Per
Symbol

The enables a computer

system to supply information to
outside world in human acceptable
form.
(A)
(B)
(©
(D)

input unit
storage unit
ALU

output unit

Q52

dfugeg Yfifar mits © #du g,

MIPS T1Yda gy it J?

(A) THEMEA »ie fAcams ud
AflzH (Millions of
Instructions Per Second)

(B) THE&M&H »ie fAcams ud
A3 (Millions of Instructions
Per Speed)

(C) THEMeA »ie ffAcams ud
fHITe® (Millions of
Instructions Per Signal)

(D) fiEaA »ie fircans ud
ffg® (Millions of Instructions
Per Symbol)

__ dfygeq Aifq3 gu f<g grad 3

Sfued e et e w3 foerfest

SICESIREEREFUSEU]

(A fesye glse

(B) WA Tlae

(C) ALU

(D) ey Wae
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Q53 Match the following functions of Q53 dfuged fAdeH = Jat fid3 Samat &
fere <9ca a8 fHER|

Q54

computer  system  with its

description.

Function Description

| | Inputting 1| Saving data and
instruction to
make them readily
available for
initial or
additional
processing.

Il | Storing 2 | Directing the
manner and
sequence in which
system performs
operation.

I11 | Controlling | 3 | Enter the data and
instruction into a
computer system.

(A) 1-3, -1, 111-2

B) I1-3,1-2,1I-1

< I-1, -2, 11-3

(D) 1-2, -1, 11-3

Through which tab can you change Q54

Page Orientation in Microsoft

Word?

(A) Insert

(B) Page Layout

(C) References

(D) Review

odHAO <dIH

YA BE1 6Iat §
WTHTAL &%
SOl B S
T I 3
fgeTfes AS Jda

Afdar |2 | OA fedt w3 91 §

fogen3 d9& fAA
o9 frAreH
PYIHS JITT J|

| dedf&ar | 3 | et »3 faefes §
feq dfuged freH
fSg Tad 34|

(A 1-3, 11-1, 111-2

(B) 1-3, 11-2, 11I-1

(C) 1-1,11-2, 111-3

(D) 1-2, -1, 111-3

U GIicHs & 928 Haw 32

(A) TE&HJE (Insert)

(B) U ®MTET (Page Layout)

(C) JedH (References)

(D) difeB (Review)
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Q55 The disk access time depends on Q55 fSHa WaHA e Jat fifsnr &g

which of the following parameters. fam Ugnted 3 faggg Jerd
l. Seek time | HaoEH
. Latency I I
1. Transfer rate m Qﬂ%‘d’é‘d
(A) landll A 13
(B) Il and Il @ 1w
(© land Il
(D) I, Iland Il (© 1mE
(D) I, 13111
Q56 Which of the following statement is Q56 J&t fifant fed fagzr JEs 3c
true about dot matrix printer? Nfean fifed g3 At 92
l. Non-impact printer I o15-fleae fijeg
Il.  Produces carbon copies I w&e g g a9t
I11.  Character printer N, 33929 ﬁkd
(A) landll A 13
(B) Il and Il @ 1w
(©) landlll
(C) 131l
(D) I, lland Il
(D) I, 1131
Q57 A magnetic tape consists of Q57 g Aardfed du feg AfHs B
horizontal row is called . Tfesd  fgarAdl
(A) tuples (A) feQus
(B) channels (B) oS
(C) lines )z
(D) sectors (D) Araeg
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Q58 Which of the following is an output Q58 J&t fafanit fed faazT fEa WEeye

Q59

Q60

device?
(A)
(B)
(C) Projector

(D) OCR

How can we enter data in charts in

MS PowerPoint?

Microphone
Camera

(A)

(B)

Directly enter data into charts

Create a template and enter

data in it

(€)

Type it in word document that

comes with Edit Chart option

(D)

Type it in excel spreadsheet
that comes with Edit Chart
option

In MS Word 2019, ‘b * t’ is used in
a wildcard search. Which of the
following search results will be
shown?

l. but

Il.  boot

.
(A)
(B)
(€
(D)

burst

| and Il

Il and 111
I and 11

[, Il and 111

Q59

Q60

f3<fen (output device) J?

(A) HEdE5 (Microphone)

(B) QHEF(Camera)

© 1lﬁB(ZEI(Projector)

(D) OCR

WHl MS Uregynifde f3g grde g
e foe wied 99 Haw I

(A) Tae feg g gufeg e nieg
d HaE Ji

ffq Sue gareigl w3 for feg
3121 nied Jial

fond <93 3gie <9 ey
a1 7 wifge e »iums =
&8 WEeT I

g wans AEHe <9
Y gdigl 7 wifse 9de
WUHG € 1% miger J

MS WORD 2019 &9 T3 aras
¥4 (wildcard search) feg b * t* <t
333 oSt At I Jot it 5
foradt 9a T a3t foutfenT aream
I =2 (bup)

Il. ¥ (boot)

I1l.  ¥dHZ (burst)

(A) 1431

(B) 131l

(C) 131

(D) I, 113111

(B)

(€)

(D)
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Q61

Q62

Q63

Q64

In MS Excel 2019, which shortcut
key is used to get the open options?
(A) Alt+0

(B) Ctrl+0O

(C) Shift+P

(D) Ctrl+P

Print Area icon is found in which tab
of MS Excel 2019?

(A) Page Layout

(B) Insert

(C) Data

(D) Review

IS an input device.

(A) Magnetic Input Character
Recognition

(B) Magnetic Input Camera
Recognition

(C) Magnetic Ink  Character
Recognition

(D) Magnetic Ink Camera
Recognition

A uses a light-

touchy indicator to choose objects on
a presentation screen.

(A)
(B)
(©)
(D)

scanner
microphone
light pen
speaker

Q61

Q62

Q63

Q64

MS WaHE 2019 29 faadt Agcde
Il (shortcut key) <t =33 ¥& JI¢
feg@ut @1 U3T 996 Bt i3t At 2
(A) Alt+0
(B) Ctrl+0O
(C) Shift+P
(D) Ctrl+P
MS Excel 2019 ® fan 29 &g fife
eI wiretes e I?
(A) " ®ATET (Page Layout)
(B) T&&HIE (Insert)
(C) 3T (Data)
(D) difeB (Review)

ffq fesye f3efern J1
(A) Hadfead  fesde  ddded
Jfsaifera
Hadfea fesde T
Jfsaifera
Naafes ffd Jdded
GIEGLRYAIS
(D) NIdfea fEa hHar Ifgaiferns

89 Umardt (presentation) A 3
marae d 9¢ 9ds B i
JSd-AUIH AI3d ©f <93 Jae J|

(A) FA&d
(B) WElEn
(C) wfteds
(D) wYlad

(B)

(€)
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Q65

Q66

In MS PowerPoint 2019, which of Q65 MS PowerPoint 2019 fg, Jat faf3mit
&g SaHa-7g T fqazT 93 At 97

the following pair/s of function —

tabs is/are correct?

(A)
(B)
(©)
(D)

Which of the following is/are the Q66

Themes — Design

Notes Page — View
Only I

Only 11

Both I and Il

Neither | nor Il

examples of asymmetric encryption

methods?

(i)

(if)

(iii)

(iv)

(A)

(B)

(€)
(D)

Data Encryption Standard
(DES)
Advanced

Standard (AES)

Encryption

Rivest — Shamir — Adleman
(RSA)
Public Key
(PKI)

Only (i), (ii) and (iv)
Only (ii), (iii) and (iv)
Only (i) and (ii)

Only (iii) and (iv)

Infrastructure

(A)
(B)
(€)
(D)

HHA (Themes) - f3aies
(Design)

&2H U (Notes Page) - <8
(View)

fAde |

fAge 11

|23 1122

el kil

Jot ot fd fagz/faa=
WAHSI (@) feafquas fedi
T/t BEraae /St I87?

(i)
(i)

(A)
(B)
(©)
(D)

3t feafqurs AE3d3 (DES)
wIen  fesfquns
(AES)
fgere- M- »EEHE (RSA)
Ugf&d dt (key) FagmHIddd

A
HAc3dd

(PKI)
I (i), (i) ™3 (iv)
< (i), (iii) 3 (iv)
IS (i) M3 (ii)

I (iii) 713 (iv)
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Q67  Which of the following command is Q67 fegt fed fam auiz <t <33 wieamw

used to rename a file in Unix? (Unix) %9 2918 @ & Sesc
(A) cp (rename) ® Bt A3t At I?
(B) m (A) cp
(B) rm
© (C) mv
@) s D) Is

Q68 What s the full form of SIP in VoIP? Q68  VolP f&g SIP & yar gu ot 7

(A) Session Initiation Protocol (A) HHS T TIP3 YIS
(B) Secret Initiation Protocol (B) I3 HIN3 YA
(C)  Session Initial Protocol (C) WIS P YIS
(D) Session Incremental Protocol (D) WHe fEradiHes YIS
Q69 Amount of data that a network Q69 3T €t H3J" 1 f¥d Acedd IAIHS
connection can transfer per unit of Ut gfse M & <iAed 99 Faer
time is knownas . S afenm e g
(A) Narrow width (A) SJ I
(B) Bandwidth (B) d3fezw
(C) Voice-band (C) <feR-§3
(D) Broadband (D) TIIE3
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Q70 Use of 4GHz to 6GHz band of Q70

Q71

Q72

frequencies for transmission and
retransmission of microwave signals
in a satellite communication system
is called

(A)
(B)
©)
(D)

Which of the following statement is

C — band transmission
A — band transmission
K — band transmission
S — band transmission

correct regarding VolIP specific

protocols?

l. The signalling protocol handle
the functions derived from the
telephone system architecture.

Il.  The transport protocols carry
the voice packets generated

from the codec.

(A) Onlyl

(B) Onlyll

(C) Bothlandll
(D) Neither I nor Il

Which of the following commands is
used to create a new subdirectory in
a Windows system?

(A) MKDIR

(B) DIR

(C) CREATEDIR
(D) CDIR

Q71

Q72

HeETEe Hud YTt feg HiElqdee
fHIIGST & YATIE M3 U3 YATIS el

4GHz 3 6GHz §3 <t Sapuirt <t =93
§_ fggraRdl

(A) T - o3 A

(B) ¥ -d3TAMHG

(C) -3 AT

(D) WH - ¥3 TAfHHG

VoIP ¥H Y8 ¥ Hey &g I8

ffimit fS9 fagz a8 Adt 92

| fdes Y8 <uies fAreH
nigelicagd 3 BT IE IHG!
Q J38 JaTT J|

Il.  TAUIE Ydds 3 3 f3mg

A Ude & 7% I |

qTH |

el

(C) 731

(D) & dtIM3Ed I

&3 fier feg ffa o<t Aasfegacdt

8T B 13t /it 97

(A) MKDIR

(B) DIR

(C) CREATEDIR

(D) CDIR

(A)
(B)
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Q73  Using mail, whatyoucansendtoone Q73 E-N& <d3w J8, Wil fq fonast #f
feniagtort © A & St 37 AL It

Q74

person or a group of persons?

l. Text
. Audio files

I1l.  Video files
(A) 1and Il
(B) I, Iland Il
(C) Only I

(D) landll

From end-user perspective, which of Q74

the following services are provided

by Internet?

l. Email

[l.  Chat rooms
1. Mailing list
(A) Nand Il
(B) Onlyli

(C) I, 1land I
(D) landll

l
1.
1.
(A)
(B)
(€)
(D)

JIAC

iEG efesi
<36 Tt
IRZERIN
MIRZEA]]
ceil
1311

W3-Yad T GadE 3, I fodr i

fagdnft Aeret ffegde oM Yors

St AT I&?

.
1.

1.
(A)
(B)
(©)
(D)

g-Ns

o< gHA
Hidar get
IRZESIN
cerl|
MIRZEA]]
REESN
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Q75 Which of the following statements Q75

Q76

Q77

related to social networking is/are

FALSE?

(1)  Marketers use social
networking for increasing
brand recognition and
encouraging brand loyalty.

(i)  Social media sites cannot be
used for spreading
misinformation,
disinformation or rumours.

(A)  Only (i)

(B) Only (ii)

(C) Both (i) and (ii)

(D) Neither (i) nor (ii)

When you reach 100000 subscribers Q76

on your YouTube channel, then
which of the following play button
you receive?

(A) Silver play button

(B) Diamond play button

(C) Reddiamond play button
(D) Gold play button

Which of the following is also called Q77

a web directory?

(i) Bing

(i) Yahoo!

(A)  Only (i)

(B) Only (ii)

(C) Both (i) and (ii)
(D) Neither (i) nor (ii)

Jot i fqaz/faar 7S deedfdd

&8 HAU3 9183 JE8 I/I6?

(i) HIfded g3 €t uge §ugE
36 BE THS dcdldd €
293 dI% Ia|

(i) BHS HFh Atet & <33
dI%3 guaT, Are-89 o o3t Jret
&t i3t A Aaed

(A) =S (i)

(B) o= (ii)

(C) T= (i) M3 (ii)

(D) &3 (i) & (ii)

7 3A »Ud YouTube 6% 3
100000 IMJS '3 UJd AR I, 31 3H
J&t fd3 us gea 9 faaz yu3
T I?

(A) BT US gca

(B) I3 us g<s

(C) T&JIUs ges

(D) JBIUY ¥Ia

Jot fifamit fed famd <8 Fifegaedt
<3 fde I8?

(i) faar

(i) wg!

(A) =S (i)

(B) = (ii)

(C) == (i) M3 (ii)

(D) &3 (i) & (i)
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Q78

Q79

Q80

In which of the following encryption

methods is only one secret key used

for both, encryption and decryption

purposes?

(A) Advanced
Standard (AES)

Encryption

(B) Rivest — Shamir — Adleman
(RSA)

(C) Public Key Infrastructure
(PKI)

(D) Both, Rivest-Shamir-

Adleman (RSA) and Public
Key Infrastructure (PKI)

Which number do you have to dial to

get your IMEI number displayed on

the mobile phone?

(A) #*06#

(B) *#06#

(C) ##H06#

(D) **06#

Which of the following statement/s

Is/ are not correct about firmwares?

l. Firmwares are responsible for
basic operations of the
hardware of smartphones.

I[l.  Firmware are the programmes

that are closely related to the

particular device.

Only |

Only Il

Both | and 11
Neither | nor Il

(A)
(B)
(©)
(D)

Q78

Q79

Q80

T 8 qru3 it & (key) <93 it

A ?

(A) 3w fosfquns

(AES)

fgere Mg M3BHE (RSA)

Ugf&d ot (key) FagmHIddd

(PKI)

w3 ysfgg o

fEsgTHCAdd (PKI) €<

NIE® @6 '3 WSt IMEI g

IS FI& URM?

(A) #*06#

(B) *#06#

(C) ##O6#

(D) **06#

foraR T8 7t &l I/ I&?

I, EIHNT AHICRS Jdsend
T Y HOSAT Bt fiHed 76

Il.  SIHMd BI Ydid™ I& 1 UTH

fsefent &% aAdiel 39 '3

HEfU3 I8

frge |

frags 1l

| M3 11 €<

&T3IETG

A
H<3dd

(B)
(€)

(D) (RSA)

(key)

(A)
(B)
(©)
(D)
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Q81

Q82

Q83

Q84

ENGLISH LANGUAGE

Select the most appropriate option to fill in the blank.
My friend passed the exam at the first
(A) attempt

(B) trial
(C) struggle
(D) task

Select the most appropriate option that can substitute the underlined segment in the
given sentence.
I don’t agree with all his ideas because some of them are fools.
(A) was foolish
(B) are fooling
(C) are foolish
(D) were fools
Select the most appropriate option to fill in the blanks.
We swimming for two hours before it to rain.
(A) have been, began
(B) have been, begin
(C) had been, begin
(D) had been, began
Parts of a sentence are given below. While the first and the last parts (S1 and S6)
are in the correct order, the parts in between are jumbled up. Arrange the parts in
the correct order to form a meaningful and coherent sentence.
S1: Narendra Nath Dutta
a. in Kolkata
b. bornin a
: traditional Bengali family
d. on 12 January 1863
S6: came to be known as Swami Vivekananda.
(A) abcd

(B) cdba
(C) acdb
(D) bcad
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Q85

Q86

Q87

Parts of a sentence are given below. While the first and the last parts (S1 and S6)
are in the correct order, the parts in between are jumbled up. Arrange the parts in
the correct order to form a meaningful and coherent sentence.

S1. With the problem of

a. uncurbed in India

b. the people have to face a constant

C. population explosion persisting

d. shortage of food grains and an

S6: ever increasing cost of commodities

(A) abcd
(B) cabd
(C) dbca
(D) abdc

Select the most appropriate ANTONYM of the given word.
Stubborn

(A) Adamant

(B) Determined

(C) Severe

(D) Docile

The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Sixty minutes / are / enough time/ to finish this task.

(A)  Sixty minutes

(B) are

(C) enough time

(D) to finish this task
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Q88

Q89

Q90

Qo1

Parts of the following sentence have been underlined and given as options. Select
the option that contains an error.

The United States have a huge and mighty army, which has helped the country

secure its powerful position in the world.

(A) have
(B) which has helped
(C) its

(D) the world

Select the most appropriate synonym of the given word.

Judicious
(A) Sensible
(B) Inspiring

(C) Agitated
(D) Obnoxious
Select the most appropriate ANTONYM of the underlined word.

It is hard to believe that this is the same urbane man | had met two months back.

(A) Hliterate
(B) Modern
(C) Elderly

(D) Uncultured

NI FoHEETd BT Wi HeT J1'Sd T »idIaw waee J|
(A) 1 honestly believe that.

(B) 1 honestly confirm that.

(C) I believe honestly that.

(D) I honestly agreed that.
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Q92 NI 37J8 HIfaa frg Hae &dl & T T »idioel wigee J|
(A) According to my experience it cantbe possible.
(B) According to my experience it is not possible.
(C)  According to my experience it will not possible.

(D) In my experience it was not possible.

Q93 N =ftp I BT 3T TV HEE J9uT I’ | T T igiIHl MgeTE I

(A) I have observed, he always try to help you.

(B) I can observed, he always help you.

(C) I have observed, he always helps you.

(D) I have observed, he always helped you.
Q94  fed@ H3 431" T W dIHl MEeE J|

(A) Don’t pretend.

(B) Don’t try to pretend.

(C) Don’t show up.

(D) Don’t make show.

Q95  MIH BT g1 9T famT "I T idTdH MaeTE J|
(A) The image go on going smaller.
(B) The image went small to smaller.
(C) The image grew smaller and smaller

(D) The image reduces smaller to smaller
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Passage (Q96 — Q100) Read the given passage and answer the questions that follow.

In my most frustrated moments of navigating chaotic traffic, |1 close my eyes in the back
seat and imagine what it would be like if some day just a thought would transport me from
one place to another.

At times, sitting relaxed on my terrace, | wonder if some day, just with the power of my
thoughts would | be able to create the image of the most vivid blue ocean and a sandy beach
in front of me? Then having had enough of that, could my thoughts switch the scene to that
of snowy mountain peaks?

Just thinking of these seemingly impossible things gives me a sense of well-being, because
| do believe that if you can think it, you can will it and achieve it. If it occurs as a thought,
it is possible to fructify as reality. After all, everything big started with a thought. Looking
at birds flying freely in the sky, humans must have thought of the possibility of flying
centuries before the invention of aeroplanes. The tallest skyscraper, the longest bridge
across the ocean, the fastest train, the internet, cell phones — all are the end result of one
thought.

As technology advances and we become more confident in our abilities to transform
thoughts to reality, the gap between the ideas and implementation keeps shrinking. Today,
one of the biggest thrills of living is watching impossible-seeming thoughts turn to reality
within one’s lifetime!

None of the big achievements or discoveries in life happened by thinking small. To achieve
big stuff, you have to think big. The most pleasurable moments can be spent imagining
what seems to be the impossible. Believe in yourself and your thoughts. Think beyond the
realms of possibility and then aim to get there. Once there, think much beyond that

possibility too. And then get going once again.
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Q96 What does the author’s wishlist NOT include?
(A) Being transported by just a thought
(B) Feeling frustrated while navigating traffic
(C) Creating the image of a sandy beach
(D) Switching the image of the ocean to a mountain peak
Q97 The author believes that seemingly impossible things can be achieved if:
(A) one takes pleasure in small ideas
(B) one has a lifetime for it
(C) one has a strong will
(D) one has a sense of well-being

Q98  Select the most appropriate synonym of the given word.

Vivid

(A) Obscure
(B) Chaotic
(C) Intense
(D)  Fruitful

Q99 What is the author’s message to the readers?
(A) Technology can help in accomplishing ideas.
(B) Believe in yourself to realise your dreams.
(C) The invention of the aeroplane came from man’s desire to fly.
(D) Thinking big can provide thrill in one’s life.
Q100 The line ‘The gap between ideas and implementation keeps shrinking’ suggests that:
(A) all ideas are being successfully executed
(B) ideas are being realised instantly
(C) more ideas are being generated

(D) more ideas are turning into reality
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ROUGH PAGE
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ROUGH PAGE
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Read the following instructions carefully:

I8 TId IefEsi § fons 578 u3:

1.

10.

11.

12

Out of the four answer options given for each question,
Candidate has to darken only one option as answer on
the OMR Answer Sheet. The answer once marked cannot
be changed.

The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in Attendance Sheet as
those printed on the Test Booklet.

Candidate needs to show his / her Admit Card whenever

it is demanded by the Invigilator.

Candidate is not allowed to leave the seat/ Test Center
without taking special permission from Invigilator or
Center Superintendent.

The candidate is not allowed to leave the Test Hall/Room
without signing on Attendance Sheet & handing over
OMR Answer Sheet to the Invigilator.

Use of Pencil/Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of
the Recruitment Board.

Candidate must return the original and department copy
of the OMR Answer Sheet to the invigilator once after the
Examination is completed. Candidate can only leave the
Examination Centre after receiving the Candidate OMR
copy from Invigilator.

The Candidates are required to submit the Test Booklet
to the Invigilator after the exam.

Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

Candidate shall not be allowed to leave the Exam

Hall/room before the shift ends.

1.

10.

11.

12.

JI YIS B fie3 I 91d §34 feasui fieg, iftmraet §
OMR €33 U3dt 3 €39 © 39 3 fige fFa feamu § g7
FI& I J| fq T Wi o3 €33 § sefen adt 7
AT

SHieegl § feg wellal ga@a grdier J fa €33 Hie vt
& 2| Bieerg § €39 Hie 3 feug-Qug adt & fomrs
&t BargE grdter| Grieerg § €aiarg €33 Hie e
foguas Aq 3 fewrer 99 fa3 & mue 3% 893 &t
Sy grdter|

SHfeeg § Tt Hie 5 Adt w2 R 2Ae Yade 99
3 AT Yade Fid foud Jed! 7 He Yase 38U I
I

f&araTs Tt Hdl e 3 BHleeg § Wi TS 9193
fouGa J<am

fadaTs 7t ded T I3 3 femm wifamn w2 fast adt &
Srieea S Hie it dTg 5 83 Aawy/Aaw! |

Yiftprgdt § Tridt Hie 13 TH3Y3 o3 fagi »3 oMR §39
U3dt fadiars & AU fagt 2re I8/aHaT 83 < iifdmr
ERik]

Uaiis/feSadisa/MeMs dsaded & <93 d9ds
HET I

it 7% {38 BIaT © nrgde © Hey fieg Srteerg varg
YfgH 3331 993 © A fowt »i3 fefawmt »ifts It
W3 Bl T A HAHIEHT § 3331 893 © fomdt w3
fefsTHi wigHTg faueam 7|

Uit ydt I 3 gmie, iftmirgelt  faaas § omMR €39
U3dt & »Ag w3 fegrat it Tun gdat It Ji

iftrrad, faarars 3 iftmradt oMR anft yu3 935 3
goE d Uit 9d 83 AdeT |

ittt 3 gmie Srieerdl § it ere ga8< fodids 38
G UCCEUSEIIRESif

Wyt Uit fiige ® HelHs I 3 24 ifentt € nfeg-nieg
333t Udes §3 sl gefent Tt yas U39 Gussu
Jedn|
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